Addition Facts; Doubles

1+1= T+7=
2+2= 8+8=
3+3= 10+ 10 =
4+4= 11+11=
5+5= 12+12=
6+6= 0+0=
9+ Q= 8-+8=
4+4= 6+6=
7+7= 3+3=
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Addition Facts; Doubles

5+5= 6+6=
2+2= 7+7=
1+1= 8+ 8=
4+4= 10+ 10 =
0+0= 12+12=
9+9= 5+5=
10+ 10= 2+2=

4+ 4=
3+3=
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Add — zeros, + 1, + 2, Sums to 10, Doubles

g ] = 6+6= 742 =
4+4= i t3= J+a=
2+4= 1+6= 9+1=
(+4= 5+1= 4+6=
Fa= D-+9= 8 + 8=
8+2= 7+1= 4+4=
P s 4 = Ty =
0+2= 8+8= 2+7=
4+6= 2+8= 6+2=
3+1= 3+3= 9+9=
3+1= 6+4 Filkat L
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Add - zeros, + 1, + 2, Sums to 10, Doubles

1+1l= 6+6= 8+ 2=
5+5= 7+3= 5+ 5=
5+2= l$+B= 9+ ] =
5+0= 7+1= 4+6=
3+3= 8§+8= 6+6=
g§+2= g+ = 4+4=
6+4= g+2= 7+7=
0+2= O+ 9= 2+ 7=
4+6= 2+ 8= 6+2=
4+1= J#3= *+8=
3+1= 6+4 T+3=
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Addition Facts — Doubles +1

3+4= 9+10=
142= 10+11=
7+8= 34+2=
4+5= 4+3=
6+7= 2+1=
5+6= 11+10
243= 7+6=
8+9= 10+9=
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Addition Facts — Doubles +1

2+3= 10+ 11=
4+5= 10+9=
6+7= §+7=
14+2= 6+5=
8+90= 9+8=
7+8= 7+6=
3+4= 5+4=
12+ 11 4+3=
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Add - zeros, + 1, + 2, Sums to 10, Doubles, Doubles +1

4+4= 5+ 6= 3=
5+4= 7+8= b+6=
5+2= 147 = 7+ 8 =
5+4= B4 B= 4+6=
3+4= 8§+8= 5+6=
#tl= T+1= 4+4=
4+5= 5+6= 7o P =
kb 9+ 8= . iy
6+4= 2+ 8= 6+5=
4+1= 4+3= 2+8=
& = 6+3 i R
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Add - zeros, + 1, + 2, Sums to 10, Doubles, Doubles +1

31l 6+6= 8 +2 =
5+6= 7+8= 5+5=
5+2= 1+6= 9+8=
5+4= 8§+7= 4+6=
3+4= g+8= ¥ +fps=
§+2= 7+1= 4+4=
6+5= 8+2= 7+7=
3+2= 9+8= 2+7=
4+6= 2+8= 6+2=
441~ 4+3= *+8=
3+ 2= 6+4 P+3=
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Addition Facts; Doubles + 2

2+4= 10 +12 =
3+5= 11+13=
4+6= 4+6=
5+7= 5+7=
6+8= 2+4=
7+9= 8+ 10 =
8+10= 3+5=
9+11= 7+9=
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Addition Facts; Doubles + 2

T+5= 5+7=
6+8= T4+35=
S+3= 8§+6=
6+4= 10 +12=
7+9= 12+13 =
12+ 10 = 4+6=
11+9= 5+3=
2+4= 10+12=
3+5= 9+7=
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Add - zeros, + 1, + 2, Sums to 10, Doubles, Doubles +1, Doubles + 2

7+9= 5+7= 8+9=
5+4= o+ 8= G+ 6=
rhent- o 1#T= 3 & 5=
S+4= 8§+9= 4+6=
T4 7= 8+8= 5+6=
3+4= 5+3= 5+4=
4 +5= 8+6= 7+7=
3+2= 9+8= 4+4=
6+4= 6+8= 6+6=
4+1= 4+3= 7+8=
3+4= 6+5 7T+9=
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Add - zeros, + 1, + 2, Sums to 10, Doubles, Doubles +1, Doubles + 2

7+7= 5+7= 7+8=
5+4= 6+ 8= 6+6=
5+2= 1+7= 3+5=
5+4= 8+90= 4+6=
6+ 8= 8+ 8= 5+6=
9+1= 5+3= 5+4=
4+5= 8+6= 7+7=
I+d= 9+8= 2+ 7=
6+4= 6+ 8= 6+6=
4+1= 4+3= *+8=
3+4= 6+5 i+9=
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Addition Facts; +9

J+0= 9+6=
B 7 = 7+9=
6+9= 6+9=
4+9= 3+9=
9+5= 9+4=
2+9= 10 +9=
8+9= 9+ 7=
12+9= 8+9=
G+ 15 = 9+6=
5+9= 4+9=
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Addition Facts. +9

] +9= 12 +8=
249 = 9+5=
3+9= 6+9=
4+9= 9+8=
5+9= 9+7=
6+9= 3-+0=
7+9= 9+3=
8+9= 9+4=
9+9= 2+9=
10+9= 9+2=
11+9= 0+ 6~
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Addition Facts — Add 9’s
D,D+1,D+2, Sumsto 10, by 1, by 2

9+2= 2+8=
4+3= 6+9=
5+4= 8+9=
7+5= 5+9=
5+6= 7+9=
5+7= 7+7=
8§+8= 2+9=
9+9= 4+6=
6+4= 7+8=
5+5= 6+6=
7+3= 7+9=
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Addition Facts — Add 9’s
D,D+1,D+2, Sumsto 10, by 1, by 2

4+4= 8+6=
2+4= 1+9=
§+0= 19+9=
9+12= 9+5=
8+8= 3+3=
9+9= 7+9=
8§+9= 9+7=
13+9= 3+7=
6+8= 4+6=
5+7= 9+9=
8+7=
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Addition Facts — Strictly Memorization

No Strategies

3+6= 6+3=
3+8= B+3=
447 = 7+4=
4+8= §+4=
5+8= 8+ 5=
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Strictly Memorization

No Strategies
g+3= J+p=
4+7= §+4=
S+8= 8+ 5=
b+ 3= 8+4=
3+8= 7+4=
5+8= 1=
b5 4+7=
B+ = J+ 8~
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